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1. Question/iz'u%
What will be the total price of 10 chairs, each of which
is of the same price?

10 dqflZ;ksa dh dqy dher D;k gksxh] ftuesa ls çR;sd dh dher leku gS\

Statements/dFku%
I. One–fourth of the price of each chair is Rs. 140.

çR;sd dqlhZ dh dher dk ,d pkSFkkbZ] 140 :- gSA
II. The total price of 3 chairs is Rs. 560 more than the

total price of 2 chairs.

3 dqflZ;ksa dk dqy ewY; 2 dqflZ;ksa ds dqy ewY; ls 560 #i;s vfèkd gSA
NTPC CBT-2 15/06/2022 (S-03)

(a) Statement I alone is sufficient, while Statement II
alone is not sufficient.

dsoy dFku I i;kZIr gS] tcfd dsoy dFku II i;kZIr ugha gS
(b) Either statement I or Statement II is sufficient.

;k rks dFku I ;k dFku II i;kZIr gSA
(c) Both Statement I and statement II are necessary.

dFku I vkSj dFku II nksuksa vko';d gSaA
(d) Statement II alone is sufficient, while statement I

alone is not sufficient.

vdsys dFku II i;kZIr gS] tcfd vdsys dFku I i;kZIr ugha gSA

2. Question/iz'u%

How is Damini related to Bhola?

nkfeuh Hkksyk ls dSls lacaf/r gS\

Statements/dFku%
I. Tika has only one son, Bhola and only one daughter,

Kamala.

Vhdk dk dsoy ,d iq=k Hkksyk vkSj dsoy ,d iq=kh deyk gSA
II. Damini is Roma’s son’s wife. Kamala is the only

daughter of Roma. Meghna is the daughter of Bhola.

nkfeuh jksek ds iq=k dh iRuh gSA deyk jksek dh bdykSrh csVh gSA
es?kuk Hkksyk dh csVh gSaA

NTPC CBT-2 12/06/2022 (S-01)

(a) Statement II alone is sufficient, while statement I
aloen is not sufficient to answer the question.

vdsys dFku II i;kZIr gS] tcfd dFku I vdsys ç'u dk mÙkj nsus
ds fy, i;kZIr ugha gSA

(b) Statement I alone is sufficient, while statement II
alone is not sufficient to answer the question.

dsoy dFku I gh i;kZIr gS] tcfd dFku II vdsys ç'u dk mÙkj
nsus ds fy, i;kZIr ugha gSA

(c) Both Statements I and II together are sufficient to
answer the question.

dFku I vkSj II nksuksa feydj iz'u dk mÙkj nsus ds fy, i;kZIr gSaA
(d) Both Statements I and II together are not sufficient

to answer the question.

nksuksa dFku I vkSj II ,d lkFk ç'u dk mÙkj nsus ds fy, i;kZIr ugha gSaA

DATA SUFFICIENCY

3. Question/iz'u%
What day is the 17th of a given month?

fdlh fn, x, eghus dh 17 rkjh[k dks dkSu lk fnu gksrk gS\

Statements/dFku%
1. The last day of month is Monday.

eghus dk vkf[kjh fnu lkseokj gSA
2. The second Saturday of month is on 12th.

eghus dk nwljk 'kfuokj 12 rkjh[k dks gSA
NTPC CBT-2 14/06/2022 (S-02)

(a) 2 alone is sufficient, while 1 alone is not sufficient.

vdsys 2 i;kZIr gS] tcfd vdsys 1 i;kZIr ugha gSA
(b) Both 1 and 2 together are sufficient.

1 vkSj 2 nksuksa ,d lkFk i;kZIr gSaA
(c) 1 alone is sufficient, while 2 alone is not sufficient.

vdsys 1 i;kZIr gS] tcfd 2 vdsyk i;kZIr ugha gSA
(d) Neither 1 alone or 2 alone is sufficient.

u rks 1 vdsyk u 2 vdsyk i;kZIr gSA

4. Question/iz'u%
On which day does Sujata's birthday fall?

lqtkrk dk tUefnu fdl fnu gS\

Statements/dFku%
I. Tom correctly remembers that her birthday comes

after Tuesday but before Saturday.

VkWe dks Bhd ls ;kn gS fd mldk tUefnu eaxyokj ds ckn] fdUrq
'kfuokj ls igys gSA

II. Anu correctly remembers that her birthday comes
before Thursday but after Monday.

vuq dks Bhd ls ;kn gS fd mldk tUefnu xq:okj ls igys] fdUrq
lkseokj ds ckn gSA

NTPC CBT-2 9/05/2022 (S-02)

(a) Statement I alone is sufficient to answer the question.

dFku I vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gSA
(b) Neither statement I nor II is sufficient to answer the

question.

u rks dFku I u gh dFku II iz'u dk mÙkj nsus ds fy, i;kZIr gaSA
(c) Statement II alone is sufficient to answer the

question.

dFku II vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gSA
(d) Both statements I and II together are sufficient to

answer the question.

dFku I vkSj II nksuksa ,d lkFk feydj iz'u dk mÙkj nsus ds fy,
i;kZIr gaSA

5. Question/iz'u%
Who is the shortest among Shamita, Tanya and Rekha?

'kferk] rkU;k vkSj js[kk esa lcls NksVh dkSu gS\
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Statements/dFku%
I. Shamita is taller than Rekha. Rekha is shorter than

Tanya.

'kferk js[kk ls yach gSA js[kk rkU;k ls NksVh gSA
II. Rekha is shorter than Surbhi. Surbhi is taller than

Shamita. Tanya is shorter than Surbhi.

js[kk lqjfHk ls NksVh gSA lqjfHk 'kferk ls yach gSA rkU;k lqjfHk ls NksVh gSA
NTPC CBT-2 17/06/2022 (S-03)

(a) Statement I alone is sufficient to answer the question,
whereas statement II alone is not sufficient to answer
the Question.

dFku I vdsys ç'u dk mÙkj nsus ds fy, i;kZIr gS] tcfd dFku II
vdsys ç'u dk mÙkj nsus ds fy, i;kZIr ugha gSA

(b) Statement II alone is sufficient to answer the question,
whereas statement I alone is not sufficient to answer
the question

vdsys dFku II ç'u dk mÙkj nsus ds fy, i;kZIr gS] tcfd dsoy
dFku I vdsys ç'u dk mÙkj nsus ds fy, i;kZIr ugha gSaA

(c) Both statements I and II together are not sufficient
to answer the question

nksuksa dFku I vkSj II ,d lkFk ç'u dk mÙkj nsus ds fy, i;kZIr ugha gSa
(d) Both Statements I and II together are necessary to

answer the question

ç'u dk mÙkj nsus ds fy, dFku I vkSj II nksuksa ,d lkFk vko';d gSA
6. Among P, Q, R, S, T and V, who is the heaviest?

P, Q, R, S, T rFkk V esa dkSu lcls Hkkjh gS\
I. P and S are heavier than Q, T and V, but none of

them is the heaviest.

P rFkk  S, Q, T rFkk V ls Hkkjh gS ysfdu muesa ls dksbZ Hkh lcls
Hkkjh ugha gSA

II. P is heavier than S but lighter than R.

P, S ls Hkkjh gS ijUrq R ls gYdk gSA

7. Question/iz'u%
Six people - K, M, N, P, Q and R are sitting around a
circular table facing the centre.

Who sits to the immediate right of K?

N% O;fDr & K, M, N, P, Q vkSj R ,d xksy est ds ifjr% dsUnz ds
vfHkeq[k gksdj cSBs gSaA K ds Bhd nk,a dkSu cSBk gS\

Statements/dFku:

I. K sits third to the left of M. Only one person sits
between K and N. R sits to the immediate left of N.

K, M ds ckb± vksj rhljs LFkku ij cSBk gSA K vkSj N ds chp dsoy
,d O;fDr cSBk gSA R, N ds Bhd ck,a cSBk gSA

II. K sits second to the right of Q. Only two people sit
between K and M. P sits second to the left of R

K, Q ds nkb± vksj nwljs LFkku ij cSBk gSA K vkSj M ds chp dsoy
nks O;fDr cSBs gSaA P, R ds ckb± vksj nwljs LFkku ij cSBk gSA

CGL Mains, 02/03/2023

(a) Data in statement I alone is sufficient to answer the
question while data in statement II is not.

dFku I dk MsVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gSa tcfd
dFku II dk MsVk i;kZIr ugha gSA

(b) Either data in statement I or statement II is sufficient
to answer the question.

;k rks dFku I ;k dFku II dk MsVk feydj iz'u dk mÙkj nsus ds fy,
i;kZIr gSaA

(c) Data in statements I and II together are sufficient to
answer the question.

dFku I vkSj dFku II dk MsVk feydj iz'u dk mÙkj nsus ds fy,
i;kZIr gSaA

(d) Data in statement II alone is sufficient to answer the
question while data in statement I is not.

dFku II dk MsVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gSa tcfd
dFku I dk MsVk i;kZIr ugha gSA

8. Question/iz'u%
Who ranked first in the class?

d{kk esa çFke LFkku ij dkSu jgk\

Statements/dFku%
I. Sreeja ranked 2nd.

Jhtk nwljs LFkku ij jghaA
II. Aman rnaked one rank below Sreeja.

veu Jhtk ls ,d jSad uhps gSA
III. Rohit ranked better than Aman.

jksfgr veu ls csgrj LFkku ij gSA
NTPC CBT-2, 16/06/2022 (Shfit-03)

(a) Each statement I, II, and III alone is sufficient

çR;sd dFku I] II vkSj III vdsys i;kZIr gSA
(b) All statements I, II and III together are sufficient.

lHkh dFku I] II vkSj III ,d lkFk i;kZIr gSaA
(c) Statement II alone is sufficient, while statement III

alone is not sufficient.

vdsys dFku II i;kZIr gS] tcfd vdsys dFku III i;kZIr ugha gSA
(d) Statement I alone is sufficient, while statement II

alone is not sufficient.

vdsys dFku I i;kZIr gS] tcfd vdsys dFku II i;kZIr ugha gSA

9. Question/iz'u%
How many soldiers are there between William and David
in a row of soldiers. all facing north?

lSfudksa dh ,d iafDr esa fofy;e vkSj MsfoM ds chp fdrus lSfud gSaA
lHkh mÙkj dh vksj mUeq[k gSa\

Statements/dFku%
I. William is 15th from the extreme left end of the row.

fofy;e iafDr ds vafre ck,a Nksj ls 15osa LFkku ij gSA
II. David is exactly in the middle of the row and there

are ten soldiers to his right.

MsfoM iafDr ds Bhd chp esa gS vkSj mlds nk,a vksj nl lSfud gSaA
NTPC CBT-2 13/06/2022 (S-02)

(a) II alone is sufficient, while I alone is not sufficient.

vdsys II i;kZIr gS] tcfd I vdsyk i;kZIr ugha gSA
(b) I alone is sufficient, while II alone is not sufficient

vdsys I i;kZIr gS] tcfd vdsys II i;kZIr ugha gSA
(c) Both I and II together are not sufficient

I vkSj II nksuksa ,d lkFk i;kZIr ugha gSaA
(d) Both I and II together are sufficient

I vkSj II nksuksa ,d lkFk i;kZIr gSaA

10. Question/iz'u%
Four people, A, B, C and D, are sitting in a straight line,
facing south. Who is sitting at the right end?

pkj O;fDr A, B, C vkSj D ,d lhèkh iafDr esa nf{k.k dh vksj eq[k
djds cSBs gSaA nk,¡ Nksj ij dkSu cSBk gS\
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Statements/dFku%
I. Only two people sit between B and D; A sits to the

immediate left of B.

B vkSj D ds chp esa dsoy nks O;fDr cSBs gS; A, B ds Bhd ck,a cSBk gSA
II. Only one person sits between B and C; A sits to the

immediate right of C.

B vkSj C ds chp esa dsoy ,d O;fDr cSBk gS; A, C ds Bhd nk,a cSBk gSA
CGL Mains, 07/03/2023

(a)  Data in statement I alone is sufficient to answer the
question while data in statement II is not

dFku I esa fn;k x;k MkVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gS
tcfd dFku II esa fn;k x;k MkVk iz'u dk mÙkj nsus ds fy, i;kZIr
ugha gSA

(b) Data in statement II alone is sufficient to answer the
question while data in statement I is not

dFku II esa fn;k x;k MkVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr
gS tcfd dFku I esa fn;k x;k MkVk iz'u dk mÙkj nsus ds fy, i;kZIr
ugha gSA

(c) Data in either statement I alone or statement II alone
is sufficient to answer the question.

;k rks dFku I esa fn;k x;k MkVk vdsys ;k dFku II esa fn;k x;k MkVk
vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gSA

(d) Data in statements I and II together is sufficient to

answer the question.

dFku I vkSj II nksuksa esa fn;k x;k MkVk feydj iz'u dk mÙkj nsus ds
fy, i;kZIr gSA

11. Question/iz'u%
P, Q, R, S, T, U and V are 7 people standing in a row all
facing North (not necessarily in the same order). Who is
standing second to the right of T?

P, Q, R, S, T, U vkSj V, 7 O;fDr ,d iafDr esa [kM+s gSa vkSj lHkh mÙkj
dh vksj vfHkeq[k gSa (t:jh ugha fd blh Øe esa gksa)A T ds nkbZa vksj nwljs
LFkku ij dkSu [kM+k gS\

Statements/dFku:

I. U is standing 3rd from the right end and 2nd to the
left of R.

U nk,a Nksj ls rhljs LFkku ij vkSj R ds ckbZa vksj nwljs LFkku ij [kM+k gSA
II. Q is standing to the immediate right of T. Q is standing

2nd to the left of P

Q, T ds Bhd nk,a [kM+k gSA Q, P ds ckbZa vksj nwljs LFkku ij [kM+k gSA
CGL Mains, 06/03/2023

(a) The data in both the Statements (I) and (II) together are
sufficient to answer the question.

dFku I vkSj II ds MsVk feydj Hkh iz'u dk mÙkj nsus ds fy, i;kZIr gSaA
(b) The data in Statement (II) alone is sufficient to answer

the question, while the data in statement (I) alone is
not sufficient to answer the question.

dFku II dk MsVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gS tcfd
dFku I dk MsVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr ugha gSA

(c) The data in Statement (I) alone is sufficient to answer
the question, while the data in Statement (II) alone is
not sufficient to answer the question.

dFku I dk MsVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gS tcfd
dFku II dk MsVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr ugha gSA

(d) The data in both the Statements (I) and (II) together
are NOT sufficient to answer the question.

dFku I vkSj II ds MsVk feydj iz'u dk mÙkj nsus ds fy, i;kZIr ugha gSaA

12. Question/iz'u%
Six people sit in two parallel rows. In Row 1 - J, K and L
sit facing towards north, and in Row 2 - F, G and H sit
facing towards south. Each person in a row faces a
person in the other row. Who faces G?

N% O;fDr nks lekukarj iafDr;ksa esa cSBs gSaA iafDr 1 esa  J, K vkSj L mÙkj
dh vksj eq[k djds cSBs gSa vkSj iafDr 2 esa & F, G vkSj H nf{k.k dh
vksj eq[k djds cSBs gSaA ,d iafDr esa cSBs O;fDr dk eq[k nwljh iafDr esa
cSBs O;fDr dh vksj gSA G ds le{k dkSu cSBk gS\

Statements/dFku:

I. H faces K; L faces an immediate neighbour of H.

H dk eq[k K dh vksj gS] L dk eq[k H ds fudVre iM+kslh dh vksj gSaA
II. G sits at one of the extreme ends of the row; J sits to

the immediate left of L

G iafDr ds fdlh ,d vafre Nksj ij cSBk gS_ J, L ds Bhd ck,a cSBk gSA
CGL Mains, 02/03/2023

(a) Data in statements I and II together is sufficient to
answer the question

dFku I vkSj dFku II dk MsVk feydj iz'u dk mÙkj nsus ds fy,
i;kZIr gSaA

(b) Data in statement II alone is sufficient to answer the
question while data in statement I is not

dFku II dk MsVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gSa tcfd
dFku I dk MsVk i;kZIr ugha gSA

(c) Data in statement I alone is sufficient to answer the
question while data in statement II is not

dFku I esa fn;k x;k MkVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gSa
tcfd dFku II esa fn;k x;k MkVk iz'u dk mÙkj nsus ds fy, i;kZIr
ugha gSaA

(d) Data in either statement I alone or statement II alone
is sufficient to answer the question

;k rks dFku I esa fn;k x;k MkVk ;k dFku II esa fn;k x;k MkVk vdsys
iz'u dk mÙkj nsus ds fy, i;kZIr gSaA

13. Question/iz'u%
Six people - K, M, N, P, Q and R are sitting around a
circular table facing the centre. Who sits second to the
left of P?

N% O;fDr - K, M, N, P, Q vkSj R ,d xksy est ds ifjr% dsanz dh
vksj vfHkeq[k gksdj cSBs gSaA P ds ckbZa vksj nwljs LFkku ij dkSu cSBk gS\

Statements/dFku:

I. K sits to the immediate right of P. Only two people sit
between P and Q. R sits second to the right of M.

K, P ds Bhd nk,a cSBk gSA P vkSj Q ds chp dsoy nks O;fDr cSBs
gSaA R, M ds nkbZa vksj nwljs LFkku ij cSBk gSA

II. Only two people sit between N and M. Q is an
immediate neighbour of M. Only one person sits
between Q and K.

N vkSj M ds chp dsoy nks O;fDr cSBs gSaA Q, M dk fudVre
iM+kslh gSA Q vkSj K ds chp dsoy ,d O;fDr cSBk gSA

CGL Mains, 07/03/2023

(a) Data in statement II alone is sufficient to answer the
question while data in statement I is not.

dFku II dk MsVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gS tcfd
dFku I dk MsVk i;kZIr ugha gSA
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(b) Data in statement I alone is sufficient to answer the
question while data in statement II is not.

dFku I dk MsVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gS tcfd
dFku II dk MsVk i;kZIr ugha gSA

(c) Data in statements I and II together are NOT sufficient
to answer the question.

dFku I vkSj II ds MsVk feydj Hkh iz'u dk mÙkj nsus ds fy, i;kZIr ugha
gSA

(d) Data in statements I and II together are sufficient to
answer the question.

dFku I vkSj II ds MsVk feydj iz'u dk mÙkj nsus ds fy, i;kZIr gSA

14. Question/iz'u%
Six people - A, B, C, D, E and F are sitting in a straight
line facing north. Who sits to the immediate left of D?

N% O;fDr & A, B, C, D, E vkSj F mÙkj dh vksj vfHkeq[k gksdj ,d
iafDr esa cSBs gq, gSaA dkSu D ds Bhd ck,a cSBk gS\

Statements/dFku:

I. A sits second from one of the extreme ends of the
line. Only two people sit between A and B. E sits to the
immediate right of C.

A iafÙkQ ds fdlh ,d vafre Nksj ls nwljs LFkku ij cSBk gSA A vkSj
B ds eè; dsoy nks O;fÙkQ cSBs gSaA E, C ds Bhd nk;sa cSBk gSA

II. C sits third from the left end of the line. Only one
person sits between C and F. E sits third to the right
of F.

C iafÙkQ ds ck,a Nksj ls rhljs LFkku ij cSBk gSA C vkSj F ds eè;
dsoy ,d O;fÙkQ cSBk gSA E, C ds nk;sa ls rhljs LFkku ij cSBk gSA

CGL Mains, 03/03/2023

(a) Data in statement II alone is sufficient to answer the
question while data in statement I is not.

dFku II esa fn;k x;k MkVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr
gSa tcfd dFku I esa fn;k x;k MkVk iz'u dk mÙkj nsus ds fy, i;kZIr
ugha gSaA

(b) Data in statement I alone is sufficient to answer the
question while data in statement II is not.

dFku I esa fn;k x;k MkVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gSa
tcfd dFku II esa fn;k x;k MkVk iz'u dk mÙkj nsus ds fy, i;kZIr
ugha gSaA

(c) Data in statements I and II together are not sufficient
to answer the question.

dFku I vkSj II nksuksa esa fn;k x;k MkVk feydj iz'u dk mÙkj nsus ds
fy, i;kZIr ugha gSaA

(d) Data in statements I and II together are sufficient to
answer the question.

dFku I vkSj II nksuksa esa fn;k x;k MkVk feydj iz'u dk mÙkj nsus ds
fy, i;kZIr gSaA

15. Question/iz'u%
How many people are standing in the row where all
people are facing north?

ml iafDr esa dqy fdrus O;fDr [kM+s gSa ftlesa lHkh O;fDr;ksa dk eq[k mÙkj
dh vksj gS\

Statements/dFku:

I. A is fourth from the left end; M is second to the right
of A; and R is second from the left end.

A ck,a Nksj ls pkSFks LFkku ij gS; M, A ds nkbZa vksj nwljs LFkku ij gS;
vkSj R ck,a Nksj ls nwljs LFkku ij gSA

II. M is fourth from the right end; only two people Stand
between M and B.

M nk,a Nksj ls pkSFks LFkku ij gS_ M vkSj B ds chp esa dsoy nks O;fDr
[kM+s gSaA

CGL Mains, 06/03/2023

(a) Data in either statement I alone or statement II alone
is sufficient to answer the question.

;k rks dFku I esa fn;k x;k MkVk vdsys ;k dFku II esa fn;k x;k MkVk
vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gSA

(b) Data in statements I and II together is sufficient to
answer the question

dFku I vkSj II nksuksa esa fn;k x;k MkVk feydj iz'u dk mÙkj nsus ds fy,
i;kZIr gSA

(c) Data in statement I alone is sufficient to answer the
question while data in statement II is not

dFku I esa fn;k x;k MkVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gS
tcfd dFku II esa fn;k x;k MkVk iz'u dk mÙkj nsus ds fy, i;kZIr
ugha gSA

(d) Data in statement II alone is sufficient to answer the
question while data in statement I is not

dFku II esa fn;k x;k MkVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr
gS tcfd dFku I esa fn;k x;k MkVk iz'u dk mÙkj nsus ds fy, i;kZIr
ugha gSA

16. Question/iz'u%
A, B, C and D are sitting around a circular table facing
the centre. Who sits to the immediate right of A?

A, B, C vkSj D ,d oÙ̀kkdkj est ds ifjr% dsUnz dh vksj eq[k djds
cSBs gSaA A ds Bhd nk,a dkSu cSBk gS\
Statements/dFku:

I. C sits to the immediate left of A; only one person sits
between C and D.

C, A ds Bhd ck,a cSBk gS_ C vkSj D ds chp esa dsoy ,d O;fDr
cSBk gSA

II. Only one person sits between A and B; C sits to the
immediate right of B.

A vkSj B ds Bhd chp esa dsoy ,d O;fDr cSBk gS_ C, B ds nk,a
cSBk gSA

CGL Mains, 03/03/2023

(a) Data in statement I alone is sufficient to answer the
question while data in statement II is not.

dFku I dk MsVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gSa tcfd
dFku II dk MsVk mÙkj nsus ds fy, i;kZIr ugha gSA

(b) Data in either statement I alone or statement II alone

is sufficient to answer the question.

;k rks dFku I dk MsVk ;k dFku II dk MsVk vdsys iz'u dk mÙkj nsus
ds fy, i;kZIr gSaA

(c) Data in statements I and II together is sufficient to
answer the question

dFku I vkSj II dk MsVk feydj iz'u dk mÙkj nsus ds fy, i;kZIr gSaA
(d) Data in statement II alone is sufficient to answer the

question while data in statement I is not.

dFku II dk MsVk vdsys iz'u dk mÙkj nsus ds fy, i;kZIr gSa tcfd
dFku I dk MsVk i;kZIr ugha gSA
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Questions (24-30): Each of the questions below consists

of a question and two statements numbered I and II given below

it. You have to decide whether the data provided in the statements

are sufficient to answer the question. Read both the statements

and give answer.

funsZ'k (17-20): uhps fn;s x;s izR;sd iz'u esa ,d iz'u gS rFkk nks
dFku Øekafdr I rFkk II iz'u ds uhps fn;s gq;s gSA vkidks ;g Kkr djuk gS fd
dFku esa fn;k gqvk MkVk iz'u ds mÙkj nsus ds fy, i;kZIr gS ;k ugha! nksuksa dFku
i<+s vkSj mÙkj nsA
(a) if the data in statement I alone are sufficient to answer

the question, while the data in statement II alone are

not sufficient to answer the question.

;fn dsoy dFku I dk MkVk i;kZIr gS tcfd dFku II dk MkVk vi;kZIr gSA
(b) If the data in statement II alone are sufficient to answer

the question, while the data in statement I alone are

not sufficient to answer the question.

;fn dsoy dFku II dk MkVk i;kZIr gSa tcfd dFku I dk MkVk vi;kZIr gSA
(c) if the data in statement I alone or in statement II alone

are sufficient to answer the question.

;fn dsoy dFku I ;k dsoy dFku II dk MkVk i;kZIr gSA
(d) If the data in both the statements I and II are not sufficient

to answer the question.

;fn nksuksa dFku I rFkk dsoy II nksuksa dk MkVk vi;kZIr gSA
(e) If the data in both the statements I and II together are

necessary to answer the question.

;fn nksuksa dFku I rFkk dFku II nksuksa dk MkVk i;kZIr gSA
Caution: Do Not mark your answer unless you consider

both the statements carefully.

lko/kuh% vius mÙkj dks rc rd fpfÉr u djsa tc rd fd vki nksuksa
dFkuksa ij è;kuiwoZd fopkj u dj ysaA

17. A box contains oranges, bananas and apples. How many

apples are there in the box?

,d lUnwd ds vUnj lUrjs] dsys rFkk lsc gSA bl lUnwd esa fdrus lsc gS\
I. Of the hundred fruits in the box, 50% constitute

oranges and bananas together.

lUndw ds vUnj 100 iQyksa esa 50» lUrjs rFkk dsys gSA
II. 50% of the fruits in the box are apples.

lUnwd esa iQyksa dk 50» lsc gSA

18. A, B, C, D and F are seated around a circular table facing

at the centre. Who is on the immediate right of B?

A, B, C, D rFkk F ,d oÙ̀kkdj est ds pkjksa vksj dsanz dh vksj eq¡g djds
cSBs gSA B ds Bhd nkfgus dkSu cSBk gS\

I. D is between A and F./ D, A rFkk F ds eè; gSA

II. C is between B and F./ C, B rFkk F ds eè; gSA

19. H is in which direction with respect to V?

H, V dh fdl fn'kk esa gS\
I. S is to the south of K, who is to the west of V.

S, K dh nf{k.k fn'kk esa gS tks V ds if'pe fn'kk esa gSA
II. M is to the north of H, who is to the east of V.

M, H dh mÙkj fn'kk esa gS tks V ds iwoZ fn'kk esa gSA

20. What is the relation between M and F?

M rFkk F ds eè; D;k fj'rk gSA
I. M has two sons, one of whom is B.

M ds nks iq=k gS ftlesa ls ,d B gSA
II. The mother of F has two sons D and B.

F dh ekrk ds nks iq=k D rFkk B gSA

Answer-Key

1. (b) 2. (c) 3. (a) 4. (d) 5. (a) 6. (a) 7. (b) 8. (b) 9. (d) 10. (a)

11. (d) 12. (a) 13. (b) 14. (d) 15. (b) 16. (b) 17. (b) 18. (d) 19. (b) 20. (a)

Answer With Explanation

1. (b) Statement I :

izR;sd dqlhZ dh dher dk ,d pkSFkkbZ 140 #- gS] bldk eryc
1 Chair = 140 × 4 = 560

10 Chair dh dher
= 560 × 10 = 5600

Statement II.

3 Chair – 2 Chair

1 Chair = 560

Total  560 × 10

=Rs. 5,600

vr% option (b) statement I ;k statement II dk data

answer nsus ds fy, i;kZIr gSA

2. (c) Statement:

I.  

Bhola+

T kai

Kam la -a

Li"V gS fd statement I dk data answer nsus ds fy,
i;kZIr ugha gSA

II. Roma

Damini-Kamla - + =

Meghna-

Li"V gS fd statement II dk data answer nsus ds fy, i;kZIr
ugha gSA
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3. (a) Statement:

I. Last day of month = Monday

Li"V gS fd statement I dk data answer nsus ds fy,

i;kZIr ugha gSA

II. 2nd Saturday =12 rkjh[k dks gSA

vr% 17 rkjh[k ds fy;s (12 + 5),  5 fnu Saturday esa tksM+us

ij Thursday izkIr gksxkA

vr% option (a) vdsys 2 i;kZIr gS] tcfd vdsys 1 i;kZIr ugha
gSA

Note: tc nksuksa data vyx&vyx xyr gks tk,] rks nksuksa data

dks feykdj solve fd;k tkrk gSA

Bhola+

T kai

Kam la-a

Roma=

Meghn a-

=Damini-

vr% option (c) statement I vkSj statement II nksuksa dk MkVk

feydj iz'u dk mÙkj nsus ds fy, i;kZIr gSaA
4. (d) Statement:

     
I. Wednesday Thursday Friday

II. Tuesday Wednesday

nksuks a statements ds according, Sujata dk birthday

Wednesday dks euk;k tkrk gSA

vr% option (d) lgh mÙkj gSA
5. (a) Statement I:

Shamita > Rekha

Tanya > Rekha

Statement I ls irk py jgk gS fd Rekha lcls NksVh gSA
Statement II:

Rekha < Surbhi

Shamita < Surbhi

Tanya < Surbhi

Statement II ls ;g irk ugha py ik jgk gS fd Rekha/

Shamita/Tanya es lcls NksVk dkSu gSA

vr%  statement I vdsys ç'u dk answer nsus ds fy, i;kZIr

gS] tcfd statement II vdsys ç'u dk answer nsus ds fy,
i;kZIr ugha gSA

6. (a) Statement I :
R

P/S

S/P
Q/T/V

T/V/Q
V/Q/T

Li"V gS fd statement I dk data answer nsus ds fy, i;kZIr

gSA

Statement II :
R

P

S

Li"V gS fd statement II dk data answer nsus ds fy, i;kZIr

ugha gSA

vr,o option (a) lgh mÙkj gSA

7. (b) Statement I:

R

K

M

N

Li"V gS fd statement I dk data answer nsus ds fy, i;kZIr gSA
Statemet II:

R

K

M

Q

P

Li"V gS fd statement II dk data answer nsus ds fy, i;kZIr gSA

vr% dFku I dk MkVk ;k dFku II dk MkVk mÙkj nsus ds fy, i;kZIr gSA
8. (b) Statement I :

Sreeja 2nd ij gSA
Statement II :

Aman, Sreeja ls ,d rank uhps gSA

Statement III :

Rohit, Aman ls csgrj LFkku ij gSA

Rohit

Sreeja

Aman

vr% rhuksa statement dks feykdj ns[kk tk;s rks Rohit Ist rank

ij vkrk gSA

blfy, option (b) lHkh statement I, II vkSj III ,d lkFk feydj
answer nsus ds fy, i;kZIr gSA

9. (d) bl iz'u dk answer nsus ds fy,] ge nksuksa statement dks
combined djds solve djsaxsA

Left Right
William

15
th

11
th
David Willian vkSj David dh

chp lSfudksa dh la[;k  = 15 – 11 – 1 = 15 – 12 = 3

vr% Both I and II statements feydj answer nsus ds fy,
iz;kZIr gSA

10. (a) Statement I:

B A C D

   

Li"V gS fd statement I dk data answer nsus ds fy, i;kZIr
gSA
Statement II:

D B A C D

    

  or, A C D B

   

Li"V gS fd statement II dk data answer nsus ds fy, i;kZIr
ugha gSA

11. (d) Statement I: _  _  _  _  U  _  R

Li"V gS fd statement I dk data answer nsus ds fy, i;kZIr
ugha gSA
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Statement II: T  Q  _  P

Li"V gS fd statement II dk data answer nsus ds fy, i;kZIr
ugha gSA

T Q S/V P U S/V R

      

Li"V gS fd statement I vkSj statement II dk data feydj
Hkh mÙkj nsus ds fy, i;kZIr ugha gSA

12. (a) Statemet I: 

Li"V gS fd statement I dk data answer nsus ds fy, i;kZIr
ugha gSA

Statemet II: 

Li"V gS fd statement II dk data answer nsus ds fy, i;kZIr
ugha gSA
Note: tc nksuksa data vyx&vyx xyr gks tk,] rks nksuksa data dks
feykdj solve fd;k tkrk gSA
G F H
  
  
J L K

Li"V gS fd statement I vkSj statement II dk data feydj
mÙkj nsus ds fy, i;kZIr gSA

13. (b) Statement I:

R

Q

P

N

M

K

Li"V gS fd statement I dk data answer nsus ds fy, i;kZIr gSA

Statement II:

Q/K

M

N

Q/K

Li"V gS fd statement II dk data answer nsus ds fy, i;kZIr
ugha gSA

14. (d) Statement I: _  A  C  E  B  _

Li"V gS fd statement I dk data answer nsus ds fy, i;kZIr
ugha gSA
Statement II: F  _  C  E  _  _

Li"V gS fd statement II dk data answer nsus ds fy, i;kZIr
ugha gSA
Note: tc nksuksa data vyx&vyx xyr gks tk,] rks nksuksa data dks
feykdj solve fd;k tkrk gSA

F A C E DB

     

Li"V gS fd statement I vkSj statement II dk data feydj
mÙkj nsus ds fy, i;kZIr gSA

15. (b) Statement I:

_  R  _  A  _  M

Li"V gS fd statement I dk data answer nsus ds fy, i;kZIr
ugha gSA
Statement II: M  _  _  B

Li"V gS fd statement II dk data answer nsus ds fy, i;kZIr
ugha gSA
Note: tc nksuksa data vyx&vyx xyr gks tk,] rks nksuksa data dks
feykdj solve fd;k tkrk gSA

_   _    _    _  _  _  R A M

B B

bl iz'u esa ge easily total number of peoples fudky ldrs
gSaA
Li"V gS fd statement I vkSj statement II dk data feydj
mÙkj nsus ds fy, i;kZIr gSA

16. (b) Statement I:

B

A

DC

Li"V gS fd statement I dk data answer nsus ds fy, i;kZIr gSA

Statement II:

B

A

DC

Li"V gS fd statement II dk data answer nsus ds fy, i;kZIr gSA
17. (b) Statement I :

Box ds vUnj 100 iQy gSA
ftlesa ls 50» dsys vkSj lUrjs gSA
vr% 50» Apple vFkkZr 50 Apple gq,A
Li"V gS fd statement I dk data answer nsus ds fy, i;kZIr gSA
Statement II :

Box esa iQyksa dk 50» Apple gS] ysfdu statement esa total

number of fruits ugha fn;k x;k gSA
blfy,] statement I dk data answer nsus ds fy, i;kZIr ugha gSA

18. (d) Statement I :

A/F

F/A

D

Li"V gS fd statement I dk data answer nsus ds fy, i;kZIr
ugha gSA

B/F

D/F/B

C

Li"V gS fd statement II dk data answer nsus ds fy, i;kZIr
ugha gSA



19. (b) Statement I :

K V

S

Li"V gS fd Statement I dk data answer nsus ds fy, i;kZIr

ugha gSA
Statement II :

M

HV

vr% Li"V gS fd Statement II dk data answer nsus ds fy,

i;kZIr gSA

20. (d) Statement I :

M

B+ O+

Li"V gS fd statement I dk data answer nsus ds fy, i;kZIr
ugha gSA

Statement II :

O
–

F Q+ B+

Li"V gS fd statement II dk data answer nsus ds fy, i;kZIr
ugha gSA
Note: tc nksuksa data vyx&vyx xyr gks tk,] rks nksuksa data

dks feykdj solve djsxsaA
M

–

D+ B+ F

O
–

=

F ds gender dk irk ugha py ik jgk gS] blfy,] statement

I vkSj II dk data answer nsus ds fy, i;kZIr ugha gSA
Note: tc nksuksa data vyx&vyx xyr gks tk, rks nksuksa data

dks feydkj solve djsaxs&

C

D

F

F

CB

D

A

A

B
Li"V gS fd statement I vkSj II dk data answer nsus ds fy,
i;kZIr ugha gSA
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